_Algebra 1 Unit 10: Exponential Functions Notes
Exponential Transformations
The transformational form of an exponential function is:
f(x) = a(b)Hf + k
Describe the fransformations of each variable in the table.
Variable Effect on the Graph of the Line
When “k" is positive When “k” is negotive
< up 1 Y DOWN ¥ '
When “h" is positive § y #W When “h" is negative § % =
" _|-h LEFT ¢ *h RIGHT 4
a When “a" is positive When “a” is negative
won | UP JG DOWN/ hefhection
a When "a” is greater than 1 When “a" is between 0 and 1
(number) retch - 9% shrinK = 3OWS

*When your graph is shifted vertically only (k term), the y-intercept becomes a + k.
*When the graph is shifted vertically, the asymptote becomes y = k.

For each of the following equations, complete the table of values. Then, using those values, draph each
equation in a different color.
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y-intercept: y-intercept: y-intercept:
(0,9) 114 (0,5) (0,-2.5) :
asymptote: \{ = O asymptote: Y,. 4 asympfote Y 2. &

Graph Differences:

a. Describe the transformations that occurred from Graph A to Graph B.
up 4 wnits
b. Describe the transformations that occumred from Graph A to Graph C.

reflected, vight |, down 2




Algebra 1 Unit 10: Exponential Functions Notes
Practice: Describe the transformations from the given function fo the ranstormed function. Then nome the y-
|

intercept and asymptote.
L= =22 gz | zv-;(lr-)y-%m'ﬂ ﬂ‘)i h=0 k"'l
Transformations: h=2 W =0 Transformations:
- L k
Fight 2 up b, shnnk by 7
; * Y-intercept: ( OJ i | 5) * Y-intercept:
% Asymptote: \, =0 Asymptote: \’ = b
3-Y=l6-6)"->v= 0.6)<-3 4.f(x)=4x D> f(x)=4x+3-8

Transformations: a= 4 bs 0 K= ‘3 Transformations: a = " hs - 3 K i = 8

* Y-intercept: «Y-intercept:

Asymptote: \I - - 3 Asymptote: y - ‘6

Directions: Using the graphs of f(x) and g(x), described the fransformations from f(x) to g(x). F{x) is the solid line
and g(x) is the dotted line. ) -
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rite the €quation for the transformation below.

8. stretch by 2, up 4 units and left 3 units 9. Shrink by ¥z , down 1 unit and right 7

a=l K=*4 h=-3  a=k K=-| h=+1
(x+3) -
- (x-1
Y= 20)" T e 4 y=45(1) )|




